RESTESERIES
FOURTEEN




TS14/1

* Which of the following are matters on which a
constitutional amendment is possible only with the
ratification of the legislature of not less than one-half of
the states?

1. Election of the President

2. Representation of States in Parliament

3. Any of the Lists in the Seventh Schedule

4. Abolition of the Legislative Council of a State
Which of the statements given above are correct?

A)1,2and 3 B) 1,3and 4
C) 1,3and 4 D) 2,3and 4




TS14/2

* The term ‘Yavanapriya’ mentioned in ancient Sanskrit
texts denoted:

A) a fine variety of Indian Muslim

B) ivory

C) damsels sent to the Greek court for dance performance

D) pepper




TS514/3

* What is the correct sequence of the following events?

1. Tilak’s Home Rule League

2. Kamagatamaru Incident

3. Mahatma Gandhi’s arrival in India

Select the correct answer using the codes given below:
A) 1,23

B) 3,21

C) 2,13

D) 2,31




TS14/4

* The concept of ‘Anuvrata’ was advocated by:

A) Mahayana Buddhism
B) Hinayana Buddhism
C) Jainism

D) The Lokayata School




TS14/5

e ‘Paschim Lahar’ was much in the news. The term is
related with

A) A unique pattern in western disturbance winds as
observed by IMD recently

B) The tri-service maritime exercise at India’s western
coast

C) The criticism of the attitude of western countries
towards globalization

D) None of the above




TS14/6

* The Chishtiya Sufi order was established in India by:

A) Khwaja Badruddin
B) Khwaja Moinudin
C) Sheikh Ahmad Sirhindi

D) Sheikh Bahauddin Jakaria




TS14/7

* According to the Administrative Tribunal Act 1985, the
Central Administrative Tribunal adjudicates disputes and
complaints with respect to the service of persons who are

A) appointed to public services posts in connection with
the affairs of the Union except members of the Defence
services

B) official and servants of the Supreme Court or any High
Courts

C) members of the Secretarial staff of the Parliament or
any state legislatures

D) members of the Defence services




TS14/8

* The term MFN, peace clause, Nairobi package often come
in news. They are associated with which of the following
organization

A) IMF
B) WTO

C) World Bank

D) BRICS




TS14/9

* Which one of the following mountain ranges is spread-
over one State in India?

A)Aravali

B) Satpura

C) Ajanta

D) Sahyadri




TS14/10

* Which one of the following elements ions is essential in
small quantities for development of healthy teeth but
causes mottling of the teeth if consumed in higher
quantities?

A) Calcium

B) Chloride

C) Fluoride

D) Potassium




TS14/11

* Consider the following statements with reference to
National Productivity Council

1. [t was established in 2015 by the Ministry of Industry in
order to cope up with the emerging challenges of
productivity

2. The Prime Minister is the ex-officio chairman of the
NPC

Which of the above statement/s is/are correct

A) 10nly

B) 2 only

C) both1and 2
D) Neither 1 nor 2




TS14/12

» Which of the following elements are present in all
proteins?

1) carbon
2) Hydrogen

3) Oxygen
4) Nitrogen

Select the correct answer from the code given below:

A)1and 3 B) 1,2 and 4
C)1,3and 4 D) 1,2,3and 4




TS14/13

* The alpine vegetation in the western Himalayas is found
only up to a height of 3000 metres while in the eastern
Himalayas it is ?ound up to a height of 4000 metres. The
r}elason or this variation in the same mountain range is
that:

A) eastern Himalayas are higher than western Himalayas

B) eastern Himalayas are nearer to the equator and sea
coast than western Himalayas

C) eastern Himalayas get more monsoon rainfall than the
western Himalayas

D) eastern Himalayan rocks are ore fertile than the
western Himalayan rocks




TS14/14

* Who among the following is well known for his
contribution in the field of Algebra?

A) Aryabhatta
B) Brahamagupta
C) Bhaskara

D) Lalla




TS14/15

 Arakan Yoma is the extention of the Himalayas located in

A) Baluchistan
B) Myanmar
C) Nepal

D) Kashmir




TS14/16

* India ranked 1229 in World Happiness Report despite its

fast emerging economy. The World Happiness Report is
published by:

A) World Health Organization

B) World Economic Forum

C) UN Sustainable Development Solutions Network

D) None of the above




TS14/17

* ‘It begins as a single cell and grows a merciless diseases
that claims millions of lives year after year. But scientists
are steadily unlocking its mysteries, and the fight against
it have reached a dramatic turning point. New discoveries
promote better therapies and hope in the war against....
The disease referred above is :

A) Cancer

B) AIDS
C) Tuberculosis

D) Alzheimer’s disease




TS14/18

* The salient features of the Government of India Act of
1935 was:

A) Provincial Autonomy

B) Abolition of Dyarchy in the State
C) Dyarchy at the Centre

D) None of the above




TS14/19

* Which one of the following is mixed fertilizer?

A) Urea

B) CAM (Calcium Ammonium Nitrate)

C) Ammonium Sulphate

D) NPK (Nitrogen, Phosphrous, and Potassium)




TS14/20

 The ‘India’ landmass was once situated well south of the
Equator. The paleomagnetic results obtained from India
indicate that in the past, the Indian land mass has moved:

A) Northward
B) Southward
C) Eastward

D) West ward




TS14/21

* Match List I with List Il and choose correct answer using
the codes given below the lists:

List I List II
a) European trans-continental 1. Paris to Istanbul
railway
b) Trans-Andean railway 2. Leningrad to
Vladivostok
c)Trans Siberian railway 3. Leningrad to
Volgograd
d) Orient Express 4. Buenos Aires to
Valparaiso
Codes:

a
5
1
5
1




TS14/22

* The ultimately responsibility of taking the action on the
comments of CAG vests with:

A) President of India
B) Supreme Court

C) Parliament

D) National Development Council




TS14/23

* Which of the following is/are extra-Constitutional and
extra-legal bodies for securing cooperation and
coordination between the States in India?

1. The National Development Council

2. The Governor’s Conference
3. Zonal Councils

4. The Interstate Councils
Select the correct answer:

A)1and 2 B) 1,3and 4
C)3and 4 D) 4 only




TS14/24

* Which one of the following is correctly matched:

A) Mahatma Gandhi i Muk Naik

B) Bal GangadharTilak  ::  Young India

C) Annie Besant ;. Commonweal

D) B R Ambedkar i Kesari




TS14/25

* The book “The Proudest Day” deals with the story of:

A) The Integration of Indian States
B) India’s Independence
C) Pokharan Nuclear explosion

D) Formation of the NDA government at the Centre




TS14/26

* What is the correct sequence of the following events?
1. The Lucknow pact
2. The introduction of Dyarchy
3. The Rowlett Act
4. The Partition of Bengal

A) 1,3,2,4
B) 4,1,3,2
C) 1,2,3,4
D) 4,3,2,1




TS14/27

* “Yellow cake” an item of smuggling across borders is
A) a crude form of heroin
B) a crude form of cocaine

C) uranium oxide

D) unrefined gold




TS14/28

* Which one of the following pairs of materials serves as
electrodes in chargeable batteries commonly used in
devices such as torchlights, electric shavers etc.

A) Nickel and Cadmium

B) Zinc and Carbon

C) Lead peroxide and Lead

D) Iron and Cadmium




TS14/29

* The clouds floods in the atmosphere because of their low

A) temperature
B) velocity
C) poressure

D) density




TS14/30

* The ‘Great Indian Bustard’ was recently in the news.
Consider the following statements with reference to the
species:

1. Great Indian Bustard is listed in Schedule I of the
Indian Wildlife (Protection) Act, 1972

2. It is predominantly found in the hills of North-eastern
India

Which of the above is correct statement/s

A) 10nly

B) 2 only

C)1and 2

D) none of the above




TS14/31

* Who among the following were famus jurists of medieval
India?

1. Vijnanesvara
2. Hemadri

3. Rajasekhara
4. Jimutavahana

A)1,2and 3
B) 2,3and 4
C)1,2and 4
D)1and 4




TS14/32

* Rivers that pass through Himachal Pradesh are

A) Beas and Chenab only

B) Beas and Ravi only

C) Chenab, Ravi, And Satluj and Yamuna

D) Beas, Chenab, Ravi, Satluj, and Yamuna




T514/33

* Why do Fold Mountains have enormous thickness of
sedimentary rocks?

A) Due to deposition of sediments in a valley for millions
of years

B) Due to accumulation of sediments in a geosyncline

C) The plains were folded into mountains

D) The sediments were folded into recumbent and nappe

folds




TS14/34

 Match the List I with List II and select the correct answer
using the codes given below the Lists:

List I List II
(Minerals) (Mining Areas)

a) Graphite 1. Bellary
b) Lead 2. Didwana

c) Salt 3. Rampa
d) Silver 4. Zawar

Code:
A)
B)
C)
D




T514/35

* The NITI Aayog has made a strong pitch in favour of an
independent institution for debt management of the
government. Consider the following statements with
reference to debt management in India:

1. At present, Department of Economic Affairs manages
the debt for the government of India

2. Interest payment on total debt is classified as a part of
revenue expenditure

The incorrect statement is/are:

A) 10nly B) 2 only
C) both1and 2 D) None of the above




TS14/36

* Who was the founder of the Radha Swami Sarsang?

A) Haridas Swami
B) Siva Dayal Saheb
C) Siva Narayan Agnihotri

D) Swami Sradhananda




TS14/37

* One of the India’s wildlife sanctuary has got its own
official mascot. Which one of the following is correct
answer

A) Kahna Tiger Reserve

B) Jim Corbett National Park

C) Keoladeo National Park

D) Kaziranga National Park




TS14/38

* Which of the following statements about President’s
ordinance-making power is not correct?

A) it is co-extensive with legislative power of Parliament

B) Laid down in Article 123

C) Shall cease to operate on expiry of six weeks from the
reassembly of the Parliament

D) Cannot be withdrawn at any time by the Parliament




T514/39

* Which one of the following hormones contains iodine?

A) Thyroxin
B) Testosterone

C) Insulin

D) Adrenaline




TS14/40

* Falum Gong is

A) an ethnic minority in Eastern China

B) an insurgency outfit in Western China
C) a pro-democracy movement in China

D) a spiritual movement in China




TS14/41

* When the same node is played on a Sitar and a Flute, the
sound produced can be distinguished from each other
because of which characteristic of sound

A) pitch, loudness and quality

B) Pitch and loudness
C) quality alone

D) loudness alone




TS14/42

* The word Adivasi was used for the first time to refer to the
tribal people by:

A) Mahatma Gandhi

B) Thakkar Bappa

C) Jyotiba Phule

D) B R Abedkar




T514/43

* Which of the following constitute the World Bank?

1. International Bank of Reconstruction and Development
2. International Finance Corporation

3. International Development Association

4. International Monetary Fund

A)1,2and 3

B) 1and 2
C) 3and 4

D) 1,2,3and 4




TS14/44

* Recently, ‘Education Impact Bond’ has been launched.
Consider the following statements with reference to it:

1. the fund has been launched by the Ministry of Human
Resource Development

2. The fund would seek to fund the skill development
courses and secondary level educational institutions in
India.

The correct statement is/are

A) 10nly

B) 2 only

C) both1and 2

D) none of the above




TS14/45

* Who among the following is well known as an exponent
of flute?

A) Debu Chaudhri

B) Madhup Mudgal

C) Ronu Mazuumdar

D) Shafaat Ahmad




TS14/46

* Which one of the following was an emigre Communist
journal of M N Roy?

A) Kisan Sabha

B) Vanguard

C) The Worker

D) Anushilan




TS14/47

e Under the Cabinet Mission Plan, the total number of
seats allotted each province in the Constituents Assembly
was roughly in the ratio of one representative to the
population of:

A) 8 Lakh
B) 10 Lakh

C) 12 Lakh

D) 15 Lakh




TS14/48

* Which one of the following is the continent with the
highest mean elevation in the world?

A) Antarctica
B) North America
C) Asia

D) South America




TS14/49

 The Indian sub continent was originally part of a huge
mass called:

A) Jurassic land mass

B) Aryavarta

C) Indiana

D) Gondwana Continent




TS14/50

* Which one of the following pairs is correctly matched?

A) Battle of Buxar.

B) Battle of Wandishwash

C) Battle of Chilianwala

D) Battle of Kharda

Mir Jafar vs Clive

French vs East India
Company

Dalhousie vs Marathas

Nizam vs East India
Company




TS14/51

* Which one of the following is responsible for the
preparation and presentation of Union Budget to the
Parliament?

A) Department of Revenue

B) Department of Economic Affairs

C) NITI Aayog

D) Cabinet




TS14/52

* Baking Soda is also known as

A) Sodium Carbonate
B) Sodium Bicarbonate
C) Sodium Nitrate

D) Sodium Acetate




T514/53

* Which one of the following can one come across if one
travels through the Strait of Malacca?

A) Bali
B) Brunei

C) Java

D) Singapore




TS14/54

* Which of the following states has started the concept of
Climate-smart villages?

A) Karnataka

B) West Bengal

C) Madhya Pradesh

D) Gujarat




T514/55

* Which of the following statements is not true?

A) Presence of water vapour is highly variable in the lower
atmosphere

B) The zone of maximum temperature is located along
the equator

C) Frigid zones are located in both the hemispheres
between the polar circles and the poles

D) Jet streams are high altitude winds affecting the
surface weather conditions




TS14/56
* Cryogenic engines find application in:
A) Submarine propulsion

B) frost free refrigerators

C) Rocket technology

D) researchers in superconductivity




TS14/57

* Which of the following soil is most suitable for tea
plantation?

A) Acidic
B) Alkaline

C) Alluvial

D) Regur




TS14/58

* Which of the following is NOT in conformation with the
recent concept of ‘Net Neutrality’?

A) Internet Service Providers should ensure that all sites
must be equally accessible

B) All sites must be accessible with the same speed

C) Associated cost of access for sites may be differential

D) All the above concepts are in conformation with the
Net-Neutrality




T514/59

* The hormone Insulin is produced in

A) liver
B) Pancreas

C) Pituitary gland

D) Thalamus




TS14/60

* The group of small pieces of rock revolving round the Sun
between the orbits of Mars and Jupiter are called:

A) meteors
B) comets
C) meteorites

D) asteroids




TS14/61

 The Barrah dacoity was the first major venture of the
revolutionary groups of the freedom movement in:

A) Bombay-Karnataka
B) Punjab

C) East Bengal

D) The Madras Presidency




TS14/62

* Which one of the following monuments has a dome
which is said to be one of the largest in the world?

A) Tomb of Sher Shah, Sasaram

B) Jama Masjid ,Delhi

C) Tomb of Ghiyas-ud-din Tughlaq, Delhi

D) Gol Gumbaz, Bijapur




TS14/63

* Which act provided for direct control of Indian affairs by
the British Government?

A) Charter Act of 1858

B) Regulating Act of 1773

C) Charter Act of 1833

D) Pitts India Act of 1784




TS14/64

* District Judges are appointed by:

A) The Chief Justice of the High Court

B) The State Public Service Commission
C) The Chief Minister of the State

D) The Governor of the State




TS14/65

* Which of the following political parties is/are national
political parties?

1. Muslim League
2. Revolutionary Socialist Party

3. All India Forward Block
4. Peasants and Workers Party of India

Codes:

A)1,2and 3

B) 2 and 4

C) 3 only

D) None of the above




TS14/66

* Which of the following statements are true about the
Governor of a State?

1. The executive power of the state is vested in him

2. He must have attained the age of 35 years

3. He holds office during the pleasure of the President

4. The grounds of his removal are clearly laid down in the
Constitution

A)1,2and 3
B) 1,2 and 4
C) 1,3and 4
D) 2,3and 4




TS14/67

* The only snake that builds a nest is:
A) Chain Viper
B) King Cobra

C) Krait

D) Saw-scaled Viper




TS14/68

* Which of the following professional is/are more likely to
run the risk of a permanent change in their cell's DNA?

1.Researchers using carbon 14 isotope
2. X-Ray technician

3. Coal miner

4. Dyer and Painter

Select the correct answer by using the codes given below:

A) 2 alone

B) 1,2 and 3
C)1,2and 4
D) 1,3 and4




TS14/69

* Hughly was used as a base for piracy in the Bay of Bengal
by:

A) the Portuguese

B) the French
C) the Danish

D) the British




TS14/70

* People drinking water from a shallow handpump are
likely to suffer from all of the following diseases except:

A) Cholera
B) Typhoid
C) Jaundice

D) Fluorosis




TS14/71

* Which one of the following can be used to confirm

whether drinking water contains a gamma emitting
isotope or not?

A) Cathode Ray

B) Lead Plate
C) Scintillation Counter

D) Spectrophotometer




TS14/72

* Viewfinders used in automobiles to locate the position of
the vehicles behind, are made of

A) Plain mirror
B) Concave mirror
C) Convex mirror

D) Parabolic mirror




TS14/73

Monoculture of commercially viable trees is destroying the
unique natural profile of..... Thoughtless exploitation of
timber, deforesting vast tracts for palm cultivation, destruct
of mangroves illegal logging by tribals and poaching only
compound the problem. Fresh water pockets are fast drying
up due to deforestation and destruction of mangroves.

The place referred to above is

A) Sunderbans
B) Kerala coast
C) Odisha coast

D) Andaman and Nicobar Island




TS14/74

 Match List I with List II and select the correct answer
using the codes given below:

List I List II
(Eras) (Reckoned from)
a) Vikram era 1. 3102 BC
b) Saka era 2.320 AD
c) Gupta era 3. 58BC
d) Kali era 4.248 AD

Code: a
A) 2
B) 1
C) 4
D) 4




TS14/75

* Which one of the following authorities makes
recommendation to the Governor of a State as to the
principles for determining the taxes and duties which may
be appropriated by the Panchayats in that particular
State?

A) District Planning Commission

B) State Finance Commission
C) Finance Ministry of that State

D) Panchayati Raj Ministry of that State




TS14/76

» Which one of the following antimicrobial drugs is
suitable for treatment of both tuberculosis and leprosy?

A) Isoniazid

B) P-aminosalicylic acid

C) Streptomycin

D) Rifampicin




TS14/77

* Which of the following statements about Fourth Anglo-
Mysore war are correct?

1. The Madras Council suggested a policy of rigorous and
intense attack on Mysore

2. Lord Wellesley tried to revive the Triple Alliance

3. Tipu sent emissaries to Arabia, Versailles. Maurtius and
Kabul enlisting support against the English

4. The war was of a very short duration though decisive.

Select the correct answer using the code given below:

A) 2,3and 4 B) 1,3and 4
C) Both 2 and 4 D) Both1and 3




TS14/78

* Which among the following pairs is incorrectly matched?

A) Prohibition of Discrimination
B) Right to Association
C) Right to Protection of Life

D) Right to Constitutional Remedies

::: Article 15
::: Article 19
::: Article 20

::: Article 32




TS14/79

* Which one of the following is not a cause of demand pull
inflation?

A) Depreciation of the currency

B) Increase in government expenditure

C) Increase in foreign exchange reserves

D) Decrease in output




TS14/80

 Match List I with List II and select the correct answer
using the codes given below :

List I
(Schedules of the

Constitution)
a) 4th

b) 6th
C) 8th

d) 9th

List II
( Subject Matter)

1. Land reforms

2. Languages

3. Council of States
4. Tribal areas




TS14/81

* Which of the following island groups is the disputed site
between Russia and Japan?

A) Spratly islands
B) Paracel islands

C) Kuril islands

D) Tillanchang island




TS14/82

* The Governor-General of Bengal become the Governor
General of India by

A) Government of India Act of 1858

B) Indian Councils Act of 1861

C) Charter Act of 1833

D) Pitts India Act of 1784




TS14/83

* Who said the ‘Indian Constitution established a unitary
state with subsidiary federal features rather than federal
state with subsidiary unitary features?

A) B R Ambedkar

B) Granville Austin

C) Ivor Jennings

D)K C Wheare




TS14/84

 Match List I with List II and select the correct answer
using the code given below the lists:

List I
(Local wind)
a) Chinook
b) Foehn

c) Sirocco
d) Mistral

Codes:
A)
B)
C)
D)

List II
(Area of Prevalence)
1. North African desert
2. Rocky mountain slopes of the USA
3. Northern slopes of Alps
4. Southern slopes of Alps

d

4
4
2
2




TS14/85

* Consider the following statements:
1. Congress becoming a mass movement for the first time
2. Growth of Hindu-Muslim unity

3. Removal of fear of the British ‘might’ from the minds of
the people

4.British Government’s willingness to grant political
concessions of Indians

Which of the statements are correct?
A)1,2,3and 4

B) 2and 3

C)1and 3

D) 3and 4




TS14/86

* The Vindhyan system of rocks is important for the
production of

A) precious stones and building materials

B) iron ore and manganese
C) bauxite and mica

D) copper and uranium




TS14/87

* Most of the desert plants bloom during night time
because:

A) their blooming is controlled by low temperature

B) they are sensitive to the phases of moon

C) the desert insects eat away flowers during day time

D) the desert insects are active during night time




TS14/88

* A redistribution of income in a country can be best
achieved through

A) progressive taxation combined with progressive
expenditure

B) progressive taxation combined with regressive

expenditure

C) regressive taxation combined with regressive
expenditure

D) regressive taxation combined with progressive
expenditure




TS14/89

* The original home of the gypsies was:

A) Egypt
B) Russia
C) India

D) Persia




TS14/90

» Match the List [ with List IT and select the correct answer
using the codes given below:
List I List I1
(Period) (Event)
a) 1883 1. Announcement of Communal
Award from White Hall
b) 1906 2. Formation of the All India State
Peoples Conference
C) 1927 3. Foundation of Muslim League at
Dacca
d) 1932 4. First session of National
Conference at Calcutta

d

C

1 2
1 2
2 1
2 1




TS14/01

 Antigen is a substance which:
A) Lowers body temperature
B) destroys harmful bacteria

C) triggers the immune system

D) is used as an antidote to poison




TS14/92

* Who of the following took the burning of the foreign

cloths during the Non- Cooperation Movement as
‘insensitive waste’

A) Rabindra Nath Tagore

B) Mohammad Ali
C) Lord Reading

D) Motilal Nehru




TS514/93

* Who said. ‘The Congress is tottering to its fall and one of
my greatest ambition while in India is to assist it to a
peaceful demise’?

A) George Hamilton

B) Lord Curzon
C) Lord Dufferin

D) Lord Minto




TS14/94

* The ‘Modi Script’ was employed in the documents of the

A) Wodeyars
B) Zamorins

C) Hoysalas

D) Marathas




T514/95

 Kuchipudi dance originated in

A) Andhra Pradesh
B) Kerala
C) Orissa

D) Tamil Nadu




TS14/96

* Find out the correct sequence of the following from the
codes given below:

1. C Rajagopalachari Plan
2. Wavell Plan

3. Mountbatten Plan

4. Cabinet Mission Plan

A)1,2,3,4
B) 2,3,4,1
C) 1,2,4,3
D) 2,1,3,4




TS14/97

* To suspect HIV/AIDS in a young individual, which one
among the following symptoms is mostly associated with?

A) long standing jaundice and chronic liver disease

B) Severe anemia
C) Chronic diarrhea

D) Severe persistent headache




TS14/98

* Some people in Manipur live in houses built on floating
islands of weeds and decaying vegetation held together by
suspended silt. These islands are called

A) Tipis

B) Barkhans
C) Phoomdis

D) Izba




TS14/99

* The Rail Regulator named Rail Development Authority
has been set up. Consider the following statements with
reference to it:

1. [t will be a Delhi based statutory authority

2. Its recommendations would be binding upon the
Railways ministry

3. Tariff determination, ensuring fair play and setting
standards would be other functions

The incorrect statements are:
A)1and 2

B)1and 3

C)2and3

D) All of the above




TS14/100

* Bank rate implies the rate of interest:

A) Paid by RBI on the deposits of Commercial Banks
B) Charged by Banks on loans and advances

C) Payable on Bonds

D) At which the RBI discounts the Bills of Exchange
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